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5 % S %

1, 62 28 1, 8(3 1, 8(3
3, 8(8 82 2, 86 38 2, 6|8
13,574 13,57 4 13,57 4
6, 8[5 6, 8/5 6, 8/5

53 53 53
3, 81 3, 8|1 3, 8|1
3, 82 3, 82 3, 82
2, 6|5 2, 6|5 2, 6|5
3, 82 3, 82 3, 82
3, 8|0 3, 8|0 3, 8|0
3, 9|2 3, 92 3, 92
3, 90 3, g|0 3, g|0
3, a2 3, a2 3, a2
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2

2

2

2,0
3,6
2,8
3, 3
3,8
1, a
43
60
23
28
8 0
1,8
4,8
4,8
69,6
1,0
8,6
3, 3

3,8
2,0
3,6
2,8
3,3
3,8
1,143
43
6 0
23
28
8 0
1,8
4, 8
0. 1%
5%
4,8
69,6
1,0
8,6
3,4

3,8
2,0
3,6
2,8
3,3
3,8
1,143
43
6 0
23
28
8 0
1,8
4, 8
0. 1%
5 %
4,8
69,6
1,0
8,6
3,4
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26 27
8 & 8 & 8 &
26 29
27
127030 127030 127030
37
28
31,724 31,724 31,724
29
28
35 35
29
27
1, 8l5 1, 8l5 1, 8l5
30
27
2, 32 2, 32 2, 32
30
27
2, 90 2, 90 2, 9|0
30
27
3, 0|2 3, 0|2 3, 6|2
30
27
97 97 917
30
27
4, 8|5 4, 8|5 4, 8|5
30
27
56,50 8 56,50 8 56,508
30
28
3, 88 3, 88 3, 8|8
32
28
1, alo 1, alo 1, alo
32
27
4, 31 4, 31 43 3, 8[8
28
27
30,588 30,588 30,588
30
27
35,002 35,002 35,002
30
27
25,385 25,385 25,385
30
27
0. 1% 0. 1%
34 |0.5% 0.5%
27
37,32 37,362 37,32
30
27
13,977 13,977 13,977
30
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25,0974, 24, 0117, 221, 75Q|, 18, 0206|, 928, 7458, 32
4,868, 44, 209(, 87 29,000 6745|813, 5614, 05
2,364, 3R, 712,825900|/90 2292|403, 078|, 32
6,198, 62, 886, 67 0 3674905, 522, 77
1,068, 988700972 0 1745|126 6964|146
0 0 79,070 0 79,070
4,608, 46, 388|, 24254070 5988|104, 04|, 83
1,250, 824, 238/, 21, 124, 903318752, 028, 35
4, 748|,54,719|,646740/190 6444|734, 743, 81
1, B|5 1, 9|2 0 372 1, Q|0
10, 7732, 57, 114, 759500/00 73134001, 3314, 35
478060 3332|638 0 52,500 2817|67
0 0 0 0 0
68,48 2 52,114 0 17,70 2 35,411
10, 104, 26, 6872, 019500|/00 6147|4511, 0107, 56
119591 47,49 1 0 47,49 1 0
35,862?,85,1344,239,709,13,75,7315,0883,67
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